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(1) —R=Et-A=E

(B4 FH., %)

= i A& fHIERTDEE| HIERE &t i

— f& = 51| 48,986,688 A 215400| 48,771,279| A 0.44
e Al & &t| 30,443,000 33,204 30,476,204| 0.1
ER®ERKSF N = | 17,112,082 0| 17,112,082  0.00
it & R KR % A = F| 10502019 33,204 10,535,223 0.32
BHEREERSAISE| 1773651 0| 1,773,651 0.00
EREEHEKEXHISET 896,897 0| 896,897 0.00
T REEESEXGIRE 158,351 0 158,351  0.00
a &t 79,429,688 A 182,205 79,247,483 A 0.23

(2) KEBERE (Bifs T %)
X & fHIERTDRE| #HIERE &t P

RO# B - A 4,128,198 0| 4,128,198 0.00
&% M X W 3,518,106 0| 3518106/ 0.00
& AKX B IR A 320,705 0| 320705 0.00
E X M X H 1,858,773 0| 1,858,773 0.00
(3) FKEZZERG (B T %)
X & fHIERTDEE| HIERE &t HaE R

Roo# M I A 3,738,379 0| 3,738379| 0.00
Ro#® M X H© 3,734,677 0| 3,734,677 0.00
E A WM I A 2,069,178 0| 2,069,178 0.00
#E X M X H 2,972,452 0| 2972452 0.00
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